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The utility of this progras is to desonstrate the
application of turba C graphics capability. In
this program an amalog clock has been
developed. The clock will give the systes tise
every tine the progra is executed and then run
avtosatically and will be displaying tise as
]m as the progras is executed.

l include {graphics.h}
¥ include (math.h

# include (dos.h

int exgey,ry

int counter;

int xyy3

flaat theta,pie=3,14259;
float thetal thetad;

"
Here is the main() progras. It has been developed
for using in monochrose sode, Programsers can try
and sodify it for using in different colored mode.
The sire of the clock can be changed by changing
the value of ‘r'. The position of the clock can be
changed by changing the value of “cx’ and ‘cy’.

aainl)

{

int graphdriver ,graphande;
struct tise 1
cr=3005ey=170;r2130;

grul\drnerillil’!ﬂi

initgraphikgraphdriver, dgraphande,“ci\\tc*);

]
initializing from systes clock &/
gettine(tieepl;
theta= (ples2.0~(tisep-)ti_sec)#2epie/0,0};
thetal=(pie/2.0 ->ti_sin)#28pie/60.0);
theta2=|pie/2.0-(tinep-Dti_hour)83K20pie/s0.0
~(timep->ti_sin)Z8piet720); .
/1 Here the seconds’ leg position depends on theta,
the position of the sinutes’ leg depends on thetal
and the position of the hours® leg depends on
theta? ®/

while [1==1)
{ for{counter=1;counter(=b0;counter++)
{union RESS rgjry.h.ah=l;

int8h(0x1b,kry,brgl;

if{'(rg.a.flags & 0xd01)

{closegraphl]y

#uit(0);} /2 statesents used to retreat fros the
pragras by pressing any keyd/

setcolor (KHITE); '

seconds_legl);

winutes_legl);

hours_leg();

sound(1000);

delay(100);

nosound| }§

delay(B77.7);

/¢ prograswing delay of 233 wili seconds ina

conputer with clock frequency of 20 MHz/

setcolor (BLACK);

seconds_legi);

theta=theta-20pie/d0.0;}

setcolor (BLACK];

winutes_legl);

hours_legl);

theta2=theta2-24pie/720.00;

thetai=thetal-28pie/s0.0;

1

}/t End of the wain progras 8/
/4 The function frase() is used to coastitute
the frame of the clock 3/

i

1% o
frasel)

{
char Blist[12)=
(4124,41,72°, ¥

",y
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%

int elyyl,a2,y2,x5,y3, 04,94

float thetad=pie/2.0;

for (counter=1jcounter(=12;counters+)
{x1=(cutrt0,978cos| thetal+28pies240.0))31.3333;
yi=cy=ri0,9sin{thetad+2tpie/240.0))
x2=(cxdrtl,03bcos( thetal+28pie/240,0) 1813335
y2=cy-ri1.034sin( thetadeZepie/240.015
xd=(crert] 03bcos( thetaS-20pie/240.0) 191.533;
y3ecy-ril.03isin( thetad-21pie/240.0)5
xd=(cnert0.970cos( thetad-20pie/240.0) )01, 333;
yh=cy=r10.9Msin(thetad-20pie/240.0);
Tinelxl,pl 52,v2h

line(x2,y2,x3,¥3);

line(x3,y3,x4,y4};

Line(xd,y4,11,y115
floodfill({cxsricos(thetadi}il. 338,
cy-risin{thetad}, WHITE);

movetol (cxérd0.85%cos( thetad+2epie/240,0)01.3333,
cy-r10.851sin( thetad+24pie/240.01);
outtext{listicounter-111;
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thelad=thatal-24piend/b0.01)

for {counter=0jcounter (=39 counters+)
{xl=lcx+rtl 03bces(thetal) 181, 3335}
yl=cy-ril.034sin{thetal);
s2={cx+rt0,970cos thetal) 41, 3553;
y2=cy-ri0,¥7tsinlthetal);
Tine{x!,y1,62,y2);
thetal=thetal-20pie/b0.0; &
) B

setlinestyle(SOLID_LINE, 0, THICK_VIDTH);
circlelcxdt, 335,cy,ril. 33305
setlinestyle(SOLID_LINE,0, THICK_NIDTH);
rectanglel (cx-ril, 2141, 335, cy-rid. 1,
(ensr L 2181383, eyeralad )y
settillstyle(HATCH FILL,WHITE;
{loodfill {(cx-r8L,1)88,33%,cy-ral. 05 W?EI;
1 IV End of the function frase() ¢/

/% The utility of the function seconds_legl) is to
draw the seconds’ leg of the clock. After each
second it is updated as its position depends. on
"theta’ which is updated after each second.d/

1

seconds_legl)

{int x1,y1,102,y2; .

xi=| [::Orlo.llmilthﬂiﬂujll!. 13
yl=cy-r10.18sin(thetaspie)}
X2=(ceort0. Tacos  theta) 161,53 °7
y2=cy-r0. Msin(theta);
setlinestyle{SOLID_LINE,O,NORN, “D'FI);
Line{xl,yl,x2,y2); - =

} /0 End of the hmhnn secands_leg 1/

1t 8
73 The utidity of the function sinutes_leg() is to
dran the winutes’' leg of the clock. After each
A it is updated as its position depends

on “thetal which is updated after esch ainute.t/
ainutes_legl) .

int adyydyn2 203,53, 08, v4;
setlinestyle(SOLID_LINE, O, THICK_WIDTH);
ai=(cxtr/bbcos|thetait2pies12.0))01.33;
yl=cy-r/bbsin{thetal+2bpie/12,005
K2=icuerh0.bdcos thetal ))8L.33;
y2=cy-ri0.bbsin{thetall;
x3=(catr/beos(thetal-23pie/12.0) 101.33;
y3scy-ribtsin(thetal-2tpie/12.01; .
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Tinelxd,y4,51,y1;

ime(al,y1,x2,y2};

Tine(x2,y2,x3,y3})

line(ad,¥3,x4,y4);

1 /1 End of the function minutes_leg 8/

i u
1% The utility of the function hours_legf) is to |
draw the hours™ leg of the cleck. After each

sinute it is updated as its position depends 8/ .

n on ‘theta?' which is updated after each
winute. 4
‘haurs _leg()

(int x1,y1,x2,y2,23,93,14,94)
setlinestyle(SOLID _LINE,0,THICK KIDTH);
xi=(cxtr/Bbcos(theta2¢2pie/12.0) )41.33;
yl=cy-r/Btsin( theta2+2ipie/12.0)}
x2=(cxtrt0.Shcos(theta?) 11.33;
ya=cy-r#0,5bsin{ theta2)
x3=(crér/Btcos (thetal-Thpie/12.0) )81, i!;
y3ecy-r/Btsin(thetal-pie/12.0)}
wh=rat]. 33;yd=cy;
Linelxd,ydyxl;yl)y
line(xl,yl,02,y2))
Line{x2,y2,x3,y31;
Tine(x3,y3, 04,5414
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